e

1

PART - A

—_—

Computer Related Genoral
Knowledge

/—\

R T en——

. Match the

, 80Vernment portals and
their purp

0S¢ in the following.

. List-II
(8) Sachet (I  to engage

citizens in

decision making

and policy
formulation.

Allows citizens

to store, share

and verify
documents and
certificates
online.

to provide single

window access

to various
government
services.

(d) Digilocker (IV) for complaints
of fraud in
online financial
transactions.

Choose the correct answer from the

options given below-

A, a1V, b-III, ¢, d-I1
B. a-1V, b-IIL, c-II, d-I
C. a-II, b-1V, ¢-II, d-I
D. a-I, b-I, c-I1I, d-IV

(b) Umang (ID)

(€) MyGov (1

O LR ot e m—————

ERIEETT
s
(a) &= ()

TrTent @t
TS
(b) SHT (I1) TTiGERT
. TETE 3T
T 9T Y
AT dufea,
| 3R
GeaTiid &t i
a3
() i wer
AT T U
g wda wem
0 7
(V) e forefir
[NEET R
aramyE
T ¥
ﬂ%ﬁqwﬁw‘iﬁmﬁwaﬁ-
A. a-IV, b-II, c-I, d-11
B. a-IV, b-1II, c-II, d-1
C. a-IlIl, b-IV, c-11, d-I
D. a-II, b-I, c-III, d-1V

(c) wnsSsfienfy
(MyGov)

(d) fesfamee
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areifaet (Altavista) T IR 37y o

2. What is the main purpose of using -

Altavista?

A. Streaming videos

B. Searching the Internet
C. Sending emails
D

. Playing music

« Which of the following statement is
correct?

A. ‘Fedora’ is a commercially
licensed operating system.

B. ‘MS excel’ is an example of
system software.

C. Operating system is a program that
acts as an intermediary between a
computer user and the computer’s
hardware.

D. All of above are correct

E@ﬁqaﬂr%z
A, dhfea ST

| p. GORWE

C. e S
D, gifier T

T T

" A ST FARII TATLEE i

frea R
B. e e R AR A
BT R

. s fawen 9 S & S Fgm
IRt ST FPE TSI F
sfier el % ¥ H RIS B

.D. SRwofiad g

. Which of the following is used to

4. INKJET fiet i ggor nfer bt wrem & ferg

measure the printing speed of INKJET frfirfiaa N Y frgs Sgam fFar S
printer? | N S
A. Paragraph per minute
B. Line per minute B. g wfa fime
C. Words per minute C. wse yfa fime
D. Page per minute D. s ufi fye
I
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m g
5, Which of the following component is 5. FwfoRem & & 2 o vz < otk e

responsible for performing addition mm%ww%q
and subtractiop operations? e .
A. Arithmetic Logic Unit ki !l;ﬁl?,'
B. Control Unjit B. H—Tgﬁ?r!lflz
C. Memory Upjy C. Wi gfre
D. Control and Memory Unit D. @i 3R Andt afe
B i Sy o S
6. Which company owns the search 6. i<l $57 1T ot wferer SR oft bt 82
engine Google? o
A. HISHIETR
A. Microsoft ;
B. Amazon _ i
C. Apple _ C. T
D. Alphabet Inc. - — D. ITHEE I,
7. Which of the following is not anti- - 7. T 3 @ T - e e

virus software ? ' 0
A. Avast A T
B. Norton

. B. A
C. Solaris > .
D. Bitdefender _ <

D. foeeths
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oogle) @A T & o

8 Arrange the following steps to createc a 8. n;ch"T © <O 1 TEY
. crefetiad FH T gt
Google account-

(a) Fill in your pcrsonal details Hi-
(name, username, etc.) (a) T saferTa foramor oy (A1,
(b) Verify your phone number W qm, a:nﬁ)

(c) Set a strong password
(d) Accept Google’s terms and

(b) ST E AT T

conditions (c) TR A T ST

(e) Visit the Google sign-up page (d) T (Google) & T I et )y
A. e c,a,d,b ;zﬁﬂt’éﬁ
B' a: C, C) da b (C) TTQ-’[ (Googlc) W'm&amm
C. ea,cd,b A. e c,adDb
D. e,a,b,d, c

B- a’ c) C’ d’ b

C. e,a,¢,d,b

D. e,a,b,d, ¢

9. Which of following is/are example of 9. forer 3 | T /A T T T IATe 27

search engine? () R REL
(I) Lycos (I) Bing

III) 771
(III) Mamma (IV) Red Hat . (I V)%
A. Only I and IIT | A. FIIA
B. OnlyIandII B. AT II
C. Only L, I1, III C. FALIL 111
D. Only Il and IV |

D. FANTIV
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the following statement
is/are correct?

(I Youcap include as many

—

10. Frfen # & 2 wid aem v &2

()  3ATF “To’ Hieg & =17 = =R

iy 3
addrésses as you want in the ‘To’ T T aﬁ{m g
field of ap €mail or as many T o fop ghfe fareert ava
addr‘e.sses as are allowed by Tgwa fehe R
D ;r}r:a‘hng system. (Il) THE AT @HH “To’ 3 Cc’
€ Same : ’ ~ o & ,
entered i zlggi]tzg‘ff:f ::3 t(':’: 3T Whie & e et o W R
field. (1) 34 H ‘Bee’ e H STHHal
(D) *Bee” field in email keeps the 30T UEH 317 STHekdie i feETs
;eclplent’s email address hidden TR
Tom everyone else who receives
the emajl, : A. FaAI
A. Only I B. ATl
B. OnlyIand Il C. FaA191Il
C. Only I and I D. SURR gt
D. All of the above
Match the following- 11. ol Srgh e
List-I List-II -1 gi-11
' 20
(a) 2KB D 230 bytes (2) 2KB 0 920 bytes
(b) IMB (D 27 bytes - £
A (b) 1IMB 1) 2°7b
© 1GB @D 2% bytes ®) (D 27 bytes
. 40
Choose the correct answer from the - (d) 1TB avy 2! bytes

options given below-

A. a-IV, b-, c-I1L, d-I
B. a1, b-1II, c-IL, d-IV
C. 21V, b-IL, c-IIL, d-1
D. a-IV, b-L, c-1I, d-1TI

A few e et 3 & e 3w -
A. a-IV, b-I, c-IIlI, d-IT
B. a-I, b-IlI, c-II, d-IV
C. a-1V, b-Il, c-III, d-1
D. a-IV, b-l, c-1I, d-111
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12. In the question given below, there arc

two statements labelled as Assertion
[As] and Reason [R].

Asscertion [As] : Operating system is a
software program that enables the
computer hardware to communicate
and operate with computer software.
Reason [R] : Ubuntu is not an open-
source operating system.

Choose the most appropriate answer
from the options given below-

A. Both [As] and [R] are true and [R]
is the correct explanation of [As].

B. Both [As] and [R] are true but [R]
is NOT the correct explanation of
[As].

[As] is true but [R] is false.
D. [As] is false but [R] is true.

O

__-m\
12, fee e S A R R e 3, v

e S [As] T THUF oy (R

=T 7T 2

7o [As] : ST ey wsp

ATt ST & ST P wrdi iy

PRIl AT TN U i e

Y i FETH STl 8

oHTCOT [R] : I59E -6 2iefen fereem

TEi 8l

i ferehet & e IR ST e

A. [As] @ [R]SHTHAE W [R], [As]
ﬁqﬁmm%l

B. [As] T [R] @I &= & & [R], [As]
1 wE ST A L B

€. [As] @& & @feh [R] TTera B
D. [As] TTeid @ aife [R] &1 R

13.

Which of the following are correct
uses of YouTube?

(a) Streaming videos

(b) Uploading personal videos
(c) Watching live broadcasts

(d) Sending emails

Select the correct answer from the
following options-

A. aandb only
B. aand conly
C. a,bandc
D. a,bandd

13.

ﬁﬁ%ﬁ'\@ﬁﬁﬁ?{\-{qﬁ (YouTube) & &
TN - T 22

(a) fifear hftm .
(b) fRTa ifedT sraerie T

(c) TS TEROT SEHT

(d) SHS ASF
ﬁmﬁr@aﬁwﬁﬁ@mﬁwgﬁ-
A. a3 b

B. &aerasiite

C. a,bafte

D. a,b3td
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14. Which of the following memory unit

14, Fraferfin & & i o vy ape et

is smallest in Storage size? ATRY H e gy 20
A. Random Access Memory :\' Ty vy o
B. Cache Memory
B. $wamd
C. Hard Djsk '
D. Read Only Memory C. _
D. {e afeht #Hify
ﬂrrange the steps to search 1S. -2 (YouTube) W FHHRI @IS &
information on YouTybe- fere Frrforae <ot =t agt s &
(a) Open YouTube et it
B . -
O Waeh e v (@ T (YouTube) W
(d) Enter the search query (b) e ii% o2 IS ¢
(¢) Click on the search bar in (c) dfearad
YouTube ' (d) Esr # aof
A. a,c,e, d,b (e) I-ZIS (YouTube) 7 99 IR 7 frere
B. a,e,d, b, c C Ty
C' a, d’b’ sl A. a,c,e9dab
'D. d,e,b,c,a B. a,e,d, b, c
C. a.d,b,e,c
D. d,e,b,c, a
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16. In word processor what is the correct

T6. oS SAaC A A1 F5 TR T sy

sequence for performing mail merge o1 TN SHH B
operation? () e T Ufsfen Rty
(a) select and editing recipients ) 779 TS ies
(b) insert merge field Noe T At e
(c) sclect ‘start mail merge’ ©) ke
(d) preview result (d) o feree
(e) finish and merge €) fEferde as
A. c,a,bd e A. ¢ a,b,d,e
B. b,c,a,d,e B. b,C,a,d,e
c ; b.a,¢,4, Cc e
D.
,a,C,e,d D b,a,c,e,d
17. Which of the following groups are 17. ﬁn%ﬁgﬂﬁﬁﬁqwmmm
only input devices? f?ﬁﬁ%‘l%"

(I)  Mouse, Keyboard, Monitor,
Joystick

(II) Mouse, Keyboard, Printer,
Light pen

(III) Mouse, Keyboard, Scanner,
Joystick, Light pen

(IV) Mouse, Keyboard, Trackball,
Touch Screen, Microphone

A. ITand IV

B. IIand IV

C. Hland IV

D. IT and III

(I) W=, FHErs, i, S

() w=sH, FErE, i, wme ¥

(1) WTSH, HETS, W, Tafes,
SIECACCH

(V) W39, FErE, Thaid, 79 BhiA,
LIEEARIET

A. 13RIV

B. IRV

e, 13RIV

D. II 3R 11
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. ATInES e fllowing mamory 18. Pt vt R
z}et heiie;;::t unit in dgscclld\ng order STHR F T W T sgafeud wi-
(@ Nibble () Bit ol T8 ()t
() MegaByte  (4) KiloByte (c) WTaTe (d) Frerame
(¢) Giga Byte (¢) Tmramdz
h.€>2c>d>a>p A. e>c>d>a>b
B.e>d>c>a>p B. ¢>d>c¢c>a>b
C.b>a>d>¢>e C. b>a>d>c>e
D. b>d>a>c¢>e D. b>d>a>c>e

19. A program that seems to do one 19. @ st i o e T g S S
function but conceals another function & Tl |t shre fesaT ST R, e 8-
is called- )
A. Virus A T
B. Trojan CoE
C. Worm C. am
D. None of the above D. STURs T A T
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20. Consider the following statements and

select the correct answer from the
options given below-

Assertion [As] : Altavista is a search
engine used to find videos.

Reason [R] : Altavista is an older
search engine known for text-based
searching.

A. Both [As] and [R] are true and [R]
is the correct explanation of [As].

B. Both [As] and [R] are true but [R]
is NOT the correct explanation of
[As].

[As] is true but [R] is false.
D. [As] s false but [R] is true.

0

30, Freferfaa e o Tt i Y R

o forered! @ Hel I EA-

a7t [As] S SAIE I (Altavista) Th
o <t & et STam Hifed @l
fou fepa T &

10T [R] eIfereT (Altavista) Th

e A $5 & S R i @ %

Ry AT STl 21

A. [As] 3 [R] &M && & 3ik [R), [As]
T el ST &

B. [As] 3R [R] 3 @& §, A [R),
[As] T Gl TTERT T 21

C. [As]) @&l &, T [R] TTral B

D. [As] 7Ted &, S [R] T& R)

21.

Arrange the given Memory-units in
increasing order of their access time-
(a) RAM (b) Registers

(¢) Cache (d) Magnetic tape
(¢) Hard disk

A. b<c<a<d<e
B. c<b<a<d<e
C. a<b<c<d<e
D.

b<c<a<e<d

21.

<1 71 AR SRTSAT hl S Ui O %
Gd shH § AR i

(a) ™ (b) ered

(c) (d) Amfewm3y

) T

A . b<c<a<dc<e

B. c<b<a<d<e

€. a<b<c<d<e
D

. b<c<a<e<d
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= wich of the fa
2. Wh:lcf}‘l of the following function is 22. ﬁﬁﬁﬁﬁqmwwﬁ
used tor countin i '
excel? g empty cells in MS el A7 Y sz w0 ¥ fyg s BT
A. COUNT() _ ®
5. COUNTA() ~A. COUNT()
. COUNTBLANK() 5. COUNTAO
D. COUNTEMPTY() . COUNTBLANK(Q
D. COUNTEMPTY()
s .
23. What is the main use of multimedia? 23. e = e ST 1 &
A. Creating presentations A SEqfaat ST
B. Storing text docum, -
| ents only B. ¥ae U138 RIS HHetd T
C. Making phone calls
D. Drawing sketches &
D. @S
24. Amrange the following steps to protect 24. aémjzaﬁ e & hiewe N &
aword document with password in W ! gl 1 I g ierg i)

correct order.

(a) Go to file and select Info

(b) Open the document in word

(c) Select encrypt with password
(d) Select protect document

(¢) Type the password and confirm

(a) RIST T ST T §I VoiTe Y

(b) S ¥ STRHE T S R

(c) Al i awaE daTe =L
(d) TRF TG HeTE

(€) TS T F TTHGS FHrhH Y

password.
A. b,a,d,c,e f: E’ X d’;’e
B baode . b,a,c,d,e
C. d,b,a,c,e
C. d,b,a,c,¢€
D. d,b,a,e,c
D- d, b, a, e, c
k
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A. a-1V, b-lIl, c-II, d-1
B. a-Il, b-III, c-IV, d-I
C. a-l, b-1II, c-1, d-1V
D. a-l, b-1ll, c-11, d-1V

e ——
g @23 1 e
25. Which of the following is a general 25. fymfafed N
use of CD/DVD? IqGT HH A&
A. Audio-Visual storage A. gﬁa}aﬁg{m U
B. Live streaming B. area
C. Web browsing. o R
D. Instant messaging .
D. i g3 WA
t )
26. How many bits are there in a nibble? 26. u Farer & fareet forga Beft &2
A. 2 A. 2
B. 4 B. 4
C. 6
C. 6
D. 8
D. 8
27. Match the following- 27. frafafad s e #it-
List-I List-II g=h-1 g=i-11
g; 3}1:10 gz) gzta storaé::. (a) i) O o
ideo cumentation
(c) Text  (IlI) Visual Storytelling ) it ) e
(d) CD/DVD (IV) Sound effects ORGSR (111) 9T FerHt Fg
Ch?ose tl:ne co;relct answer from the (d) v (V) =y
options given below- C .
o A R e el 3 4 v -

A. a-1V, b-I11, c-11, d-I
B. a-Il, b-lll, ¢-1V, d-I
C. a-Il, b-lII, ¢-1, d-IV
D. a-1, b-111, ¢-11, d-1V
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(Ill) Static RAM uses capacitors.

(IV) Dynamic RAM uses capacitors.

Which of the above statements are
true?

A. OnlyI

B. Only I and III
C. Only Iand IV
D. Only IT and I1I

18. Which of the following formats are 28. fyfafed 9 & 19 ¥ TT AR W
typically used for CDs and DVDs? Hi<t 3tk it 3 forw 3w ferg <t €2
Audi 5 o .
(c) Blu-ray (d) CD-RW
Select the correct answer from the (©) =T (d) HEt-3TEsT]
following options- FrefoRaa fompeat & & wet ot -
A. aand b only A. Fae a3 b
. aand
B e ouly B. %aea 3R c
C. a,b,and ¢
D. a,band d C. a,b3iie
B. a, b3Rd
29, Consic!er the following statements 29. wRfiw W ST W ey d
regarding the Static RAM and  Prefefas st w REm st
Dynamic RAM: St e T
(I) Static RAM is slower than @ w, R
Dynamic RAM. iy Breit 21
(I) Static RAM is costlier than (1) Rfesh W SrATHS 9 & 7t St
Dynamic RAM. 2l

(I11) T Y Fufred =1 ST ST 2

(IV) ST M SRS 7 370 Har
2l

J9H W & I 91 HYT G 27

A. Hd ]

B. Faw 13RI
C. ¥FaAIIRIV
D. a9 11 3R 111

SET-D SARKARIPREP.IN



BT Heftals Wl U3 2024 Oarkraiprep.in

30. Directions : For the below Assertion

[As] and Reason [R] choose the
correct alternative.

Assertion [As] : The main purpose of
input devices is to display information
to the user.

Reason [R] : Input devices such as
keyboards and mouse are used to feed
data into thc computer system.

A. Both [As] and [R] are true, and

[R] is the correct explanation of
[A]. |

B. Both [As] and [R] are true, but [R]
is not the correct explanation of
[A].

C. [As]is true, but [R] is false.
D. [As] is false, but [R] is true.

30. frdw : S Ry e [As] 3w
[R] 3 forq et e <

T [As] I farsa 1 qer e

IqENTERdT Y SRR SefRid T 8 8l

FHROT [R] : S IR AT A YL

famse 1 ST e R & ST SN

A & fer forma siman 21

A._2F [As] 3 [R] @ €, 3 [R],
[As] =T T TagieRtoT 2

B. @I [As] 3t [R] & &, AfF [R],
[As] T & TTEHT0T e 2

C. [As] 4@ g, Afrd [R] Tera B

D. [As] e &, T [R] G 21
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= few g foreredt & @ @t ST -

A [As]TEE RS RIEEY

B. [As] @€ & 3 [R] HI @€l

C. [As] &t & g [R], [As] FT ol
o AE 8l

D. [As] 3R [R] ST & TTerd &

PART -B
Hindi, with Grammar &=, sareor alRm
e
3. TER T W arf o 33. et St s
A & =1t orerd Ry -1 -1
A. TS St wy () & (1) T, Fw, Reeh
L (b) FEIM (1) T IS W2
C gt (c) Fomiwor () #, W, e
O T (d) R (Iv) =R, T e,
D. A ¥ v wrf . TR
e foq e forpedi & & wdt ST -
A. a-L, b-II, c-111, d-IV
B. a-I, b-11I, ¢V, d-TI
C. a-, b-IL eI, d-TV-
. D. a-II, b-1V, c-1, d-I1I _
32. ferat SHTeRTOT 3 ST i wrea B 34. fau e Zw <t et oo Ih-
T [As] : ATV A 7 H T O ik - fa=d
A SR Tk 7T 37 T T bl () ey - e
it T1eg FEd 2 (I1T) 37t — g 3t
RO [R] : AT & Aet bl Ffireh o3 av) e -fim
. FEA R (V) feft- s

A. 158, 158, -, V-9,
VITd

B. I-7red, 11-9, 1117, 1V-6e,
VaRl

C. I- 98, II-Ted, LI-ITer, IV-aa,

V-eid

D. I-7eq, I1-TeTd, 1I-98, IV-9e,
VTad |
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35. a‘gﬁm?ﬁ-

A. T8 T fuear 2l
B. #+ @t gieh 9G Sredl
C. ¥ vftact ser fo=m
D. 98 9 WAL R Bl

General English HTAT 33
36. Select the most appropriate synonym 39, - Players sang --——- song in honour
of the given word. of ----- Chief Minister.
‘Hospitality’ A. a,a,the B. no article, the, the
A. Audacity  B. Insolence C. the, the, the D. the, a, the

C. Generosity D. Indecency

37.

Sudhir respects the teacher-
Assertion [As] : The teacher is
respected by Sudhir.

Reason [R] : The active object ‘the
teacher’ has become the passive
subject.

Choose the correct answer from the
following options-

A. Both [As] & [R] are true, and [R]

- is the correct'explanation of [As].

B. Both [As] & [R] are true, but [R]
is not the correct explanation of
[As].

C. [As]is true but [R] is false.

D. [As]is false but [R] is true.

40.

Match the following-
List-I

(a) Capable of
being corrected

(b) To walk
aimlessly

(c) Handwriting
cannot be read

(d) Brief & to the
point

Choose the correct answer from the

options given below-

A. a-IV, b-111, ¢-II, d-I
B. a-Il, b-IIl, c-IV, d-1
C. a-IL, b-III, c-1, d-IV
D. a-I, b-III, c-II, d-IV

List-II
(I) Concise

(II) Tilegible
(IIT) Amble

(IV) Corrigible

38.

He has not read.anything ------
Tuesday.

A. from B. over

C. since D. for
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General Mathematics USRI

m
#1. The least number of 5 gigts which 41. I 3 i vl B v, R 3, 4, 5,

when divided by 3, 4, 5, 6 the 6 ¥ forniforg #23 A sl Rorfy & et

remainder is 2 in each cage, is- BT

A. 10017 P

B %00z A. 10017

c. 10022 B. 10012

D. 10032 - C. 10022

D. 10032

42. Directions : For the below Assertion

[As] and Reason [R], choose the
correct alternative -

Assertion [As] : Cube and cuboids
have the same volume for any
dimension.

Reason [R] : Area of cube with side a

is a3,

A. Both [As] and [R] are true and [R]
is the correct explanation of [As].

B. Both [As] and [R] are true.but [R]
is not the correct explanation of

[As].
C. [As] is true but [R] is false.
D. [As] is false but [R] is true.

. feenfader : = o [As] SR @R [R)

ﬁq%,aﬁﬁmmwﬁﬁq:

HU [As] : Foret oft e & fo@ am ot

AT T 3T G BT 2

SROT [R] : O 1 8% a° BT R, A

3EH! T YT a B

A. [As] W [R] ST a2 3R [R] &
[As] T €1 I R

B. [As] 3R [R] 3H1 & & W [R],
[As] T T2 ST 77 2

C. [As] ¥ W [R] TTeTa B

D. [As]Teid 8 W [R] §F 8l
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T & T Tt i 65% Wl STH §T
43. A candidate got 65% votes in an A Rl ﬁq:ﬁ S ) -
election and won by 3645 votes. Then Td 98 3645 i kN
the total number of votes polled if qag]q§3q'mﬁ'a‘51€1 TSt 9-
there were two candidates- A 12450
A. 12450
B. 12350 B. 12350
C. 12250 C. 12250
D. 12150 D. 12150 _
44. If the successive discounts are 25%, 44. qﬁm?ﬁ 25%, 10% T4 8% AL
10% and 8%. Then the single gwu,aﬁg;?ﬁﬂ%—
equivalent discount rate is- A 37.9%
A. 37.9% B 37.8%
B. 37.8% . 37'7(;
C. 37.7% o 37'6;
D. 37.6% S
45. Match the following- 45. T gt SAEL-
List-I " List-II g1 | ' il
(a) Z{:ctllg ;)ierrSO milliliter .(I) 33:22 (@) 250 firett eftex T @ 33:22
(b) If4x +3y: 6x+5y () 12:18 2 et T STgTa
= 11:17 then x:y = (b) A 4x +3y s 6x+Sy (1) 12:18
(C) %=i=_§= (HI) 4:32 =11:17?lax:y=
3 6 9 ‘ 2 4 6
(d) Ifx:2=y:3 and Iv)2:1 © 376 9" (IIT) 4:32

5x+7y=11theny:x =
Choose the correct answer from the
options given below-

A. a1l b1V, I, d-I
B. a-IV,b-I, c-II, d-III
C. a-ll, b-1V, c-II, d-1
D. a-Il, b-I11, c-I, d-IV

(d) A x:2 =y:3 W&t av) 2:1
Sxt7y=11Tq y:x = —

13 R et & e 3w -

a-IlI, b-IV, c-I, d-II

a-1V, b-1, c-II, d-111

a-111, b-IV, c-II, d-I

a-II, b-1I1, c-1, d-IV -

Sowp
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46. Match the following-

(a)

(b)

©)

(d)

@

List-1

The €quation of a line parallel
to aX+by+c=0 is

The equation of a line
Perpendicular to ax + by+c=0
is

The equation of a line parallel
o aX+by+¢c=0 and passing
through origin is

The equation of a line
Perpendicular to ax +by+c=0
and passing through origin
List-

ax+by=0

1) ax+by+k=0

() bx —ay+k =0

(V) bx—ay=0

Choose the correct answer from the
options given below-

A

B
C.
D

a-111, b-I1, c-IV, d-1
. a-11, b-III, c-1, d-1V
a-I, b-111, c-IV, d-II
. a-1I, b-1V, c-1, d-11I

46. TH A TR

-1

(@) ax+by+c=0 & FHETR G H
GHfteRtor

(b) ax-+by+c=0 ¥ Taaa @ H
TRt

(€) ax+by+c=0 % THHL 3R
eI & A T et e
TR

(d) ax+by+c=0 % Taq AT
ol @ et ST st Y@ a6 aftae
gefI-11

() ax+by=0

() ax+by+k=0

dII) bx—ay+k=0

(IV) bx —ay =0 _

13 R e s F & Wt e -

A. a-IIl, b-II, ¢c-1IV, d-1 '

B. a-Il, b-I1I, ¢c-1, d-1V

C. a-I, b-IIi, c-IV, d-l1

D. a-Il, b-1V, c-I, d-111
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47. e GiEaTg FS T 3T 24 Frfy 37K

47. A base of an isosceles triangle is )
24 cm and its area is 192 cmz, then AT 192 {4t g, 1 $HRT IR B
the perimeter of the triangle is- A. 64 THt
A. 64 cm B ¢33t
B. 63
cm c e
C. 62cm
D. 61 cm D. 61 &l
48. An angle is 30° less than two times of 48. T H NWW%@Q} 30" %A
its supplement angle, then the smaller 2. A Bier T g
angle is-
A. 110°
A. 110° -
B. 70° s 400
C. 40° 4 y
D. 30° D. 30
49. 49, 3 .
A person buys an article at % of its @ﬁﬁ@ﬂ!@@%ﬂ@% A e}
value and sells it for 20% more than -@ldt @3@3@%@@ 20% 31T 1
its value. The gain % of the person is- = =ITRA T 9% 2
A. 50% ~
i A. 50%
B. 60%
B. 60%
C. 40%
C. 40%
D. 55%
D. 55%
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— T
50. When a transversal intersects two

51.

50. 11 o ferdeh Y & et A et 2
lines, the twq lines will be parallel if- SHT @ wHTiR S, At
() Interior alternate angles are equal (a) STaRe Jebfeae Fror g &
(b) lIlllilteeriuc;rl alternate angles are (b) 3Ttk SeHfeTs FoT srEHE &
(©) Ethrior alternate angles are equal (<) STer FHfera 101 o7 &
(d) Exterior alternate angles are (d) ST Sepfeaeh T sremr &
unequal HEt I 1 T4 -
Select the correct answer-
A. aand b only A Factasis
B. a and c only B. Fdasfitc
C. a,b,conly C. ¥ada,b, ¢
D. a, b, donly D. *dd a, b, d
The sum of an angle and half of its 51. X fer o @qu@m% S
complementary angle is 75°, then T ANT 75° B A lor EI-
angle is- A D
A. 40° B. 50°
B. 50° C. 60°
C. & D. 80°
D. 80°
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52. e # A WIS E?

52. Which of the following are the solids?

(a) Cube
(b) Cylinder
(c) Hollow cylinder

(d) Circular ring
Select the correct answer from the

following options-
A. a, b, conly

B. b, c, donly

C. a,bonly

D. ¢, donly

——

forry forpedl B | TET ST AT T i

A. ¥ a, b, ¢
B‘ mbac’d

v G aﬁaa,b

D. Fadc, d

53.

A train 180 m long passes an electric
pole in 6 seconds. How long will it
take to cross a bridge of 240 m length?

A. 13 seconds
B. 14 seconds
C. 15 seconds
D. 16 seconds

=k

o e e T 180 T
forereft 3 @ T 6 ThUS H YT Felt 81 79

e g foraht w240 Tt €, T IR
& B foraeT T emm?

A. 13 9%vsg
B. 14 @3veq
C. 15 A%vey
D. 16 4%vsH
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54. The adjacent sigeg of 4 parallelogram

g 54. T GHMHIC SIS Y 2 TE et
?r?nincntlhand 9 cm. The diagonal T 8 At ot 9 A ], o el
JOI g e ends Ofth d i ) ) 3
13em. Its areq js. pesEs B et = et el fererol ot erad 13 el

qr 1
A 72 o2 8, ST & ©
A. 2
B. ]2\/'3‘5~ cm2 72 ‘é’:ﬁ
B. 2
C. 24435 o2 124/35 3y
D. 150 2 C. 24435 wft?
D. 150 @2

§5. A merchant buys a watch for Rs. 540 55. U AR A T ) 540 €, § @i
andkmarks !t as such price that he 30 T b e s v iR 15% ge
maxe a profit of 19% after allowing a ‘ ) -

i (lsa’lﬁ' 0,
discount of 15%. The marked price of 36 st g
the watch is- SifeRa H_\FT%-
A. Rs. 748 A. 748%
C. Rs. 754 C 7542
D. Rs. 756
D. 756?_

56. Of the three numbers first number is 56. = g W ¥, yged |, a:\aﬁ‘m‘"‘ra
twice of the second and three times of Tt U et o i T R At s oftea
third. If their average is 88. Then the > N ;

) : 88 1 O T WSl T HEAT 7 3¢ 8-
difference of first and third number is- R ?
A 96 A. 96
B. 48 B. 48
C. 72 C. 2
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——

e S g A2, 3) 8
7. Equation of a line that passes through 57. T @1 s e 450
point A(2, 3) and make an angle of 45° TSIt @ S x-378 = W
with x axis. If this line meets the line FTd 2, af IE @1, 9 @

x+y+1=0 at point P, then distance
AP is-

A. 22

32

42

5v2

S o w

x+y+1=oﬁpﬁgqﬁﬁwﬁ%a‘mﬁ
AP®-

A. 242

B. 3.2

C. 42

D. 52

58. The greatest number, that will divide
37, 56 and 93 having the remainders 1,
2 and 3 respectively-

A 6
B. 12
C. 18
D. 24

58.

75 o a2 e, R 37,56 T 93 ;-

. frfr = W A9ESA A 1, 2 T3

W Bl -
6

12

18

o o-w »

24
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39. A‘ss‘cnion [As] : To convert 25% to a 59. T [As] : 25% T symET ¥ geey
decimal, we divide 25 by 100. & frwEw 25 1 100 ¥ R @ 24
Reason [R]: To change a percentage ST [R] : ST Y goers § agem &
int0 a decimal, we move the decimal ' _ .
point one place to the Joft. fere, & Temrere foig 1 o At S
Choosta the correct answer from the wTd @l
following options. aﬁ%ﬁqwﬁm‘iﬁ&uﬁwgﬁ-

A. ?oth [As] and [R] are true and [R] A. [As] Td [R] Q1 @ 2 9917 [R], [As]

1s the correct explanation of [As]. £ Tt 3 ’
B. Both [As] and [R] are false. _
C. [As] s true but [R] is false. B. [As]W[R] QAT T R
D. ?oth [As] and [R] are true but [R] C. [As] W%‘Rﬁ [R] 76 2l

Ej\ n;)t the correct explanation of D. [As] W& [R] 2HT @1 & 94 [R], [As]

s]. >
Y Tt =T 7 R
60. Assertion [As] : Small countries with 60. 37frsRer [As] : olgd Hfereh ST AT
velc'ly l;igh 1130pu(;ation tend to be B 27 Aferfyd B 2l
underdeveloped. : : ;
ST [R] : SHEEAT foepie SameqT i

Reason [R] : Population explosion [R] :
leads to scarcity of resources. ol 1 ﬁtéﬁm‘T?l )
Choose the correct answer from the ﬁmmﬁmﬁﬁﬂﬁwiﬁ-
following options- A. [As]UE [R]&eF 8 @& [R], [As] i
A. [As] and [R] are' true and [R] is the & =TE Y

correct explanation of [As]. ] . &
B. [As] and [R] are true but [R] is not B. [As]W[R] ’HF\’I TRR] [As]

the correct explanation of [As]. T TGN e
C. [As] is true but [R] is false. C. [As]¥cT 8 W] [R] 316 B
D. Both [As] and [R] are false. D. [As]Ud [R] 3T o |
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61. Direction : For the below Assertion

[As] and Reason [R], choose the

correct altcmati\_fe 3
Assertion [As] : The consecutive sides

of a quadrilateral have one common
point.

_Reason [R] : Opposite sides of a

quadrilateral have two common

points.

A. Both [As] and [R] are true and [R]
is the correct explanation of [As].

B. Both [As] and [R] are true but [R]
~ is not the correct explanation of

[As].
C. [As]is true but [R] is false.
D. [As] is false but [R] is true.

C. [As] @ @ W [R] ST &
D. [As] 37@ed & 9{g [R] T R

62. A man invested Rs. 1500 on a simple 62. T =AfE A 1500 I HIETRT 1S T TH
interest at a certain rate and Rs. 2000 i gr o Ao fere wd 2000 2, 2%
at 2% higher rate. The total interest in sifirer o o FraeT R i aut i ot
three years was Rs. 750.

What was the rate of interest for ST 750 X ST g3

Rs. 15007 1500 % foper 0 ot Frawr forar 92
A 5% A. 5% |

B. 6.5% B. 6.5%

C. 6% C. 6%

D. 5.5% D. 5.5%
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¢3. Match the following-
List-] List-1I

(a) Speed = () 1
Average speed

(b) Average (1D Distance

Speed
speed =
(c) Time = () Distance
Time
(d) Total av) Total Distance
Total Time

Time ¢

Choose the correct answer from the
options given below-

A. a-IV, b-I11, ¢-I, d-I1
B. a-III, b-1V, c-I, d-II
C. a-IV, b-III, c-II, d-I
D. a-IIL, b-1V, c-1II, d-I

63. wel At sRU-
-1 g1
- .
(a) I U v —

(b) 3T =TT = (1) &
: Tl

. 7
(c) a9 (1) m—

@ FATE a (1V)

ol gl
e gAY

R}

13 o e feee o & R -

9 0w >

a-IV, b-111, c-I, d-II
a-11L, b-1V, c-I, d-1I
a-1V, b-111, c-II, d-1
a-IIl, b-1V, c-II, d-1
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64. Match the number of faces with its 64. f=
related geometrical shape- e & S Ses-
List-I List-IT Gl gfl-I1
(@) Cylinder (I) 1 @ o O 1
(b) Cube an 2 an 2
(c) Cone (1) 3 (b ‘W
(d) Sphere (IV) 6 (c) % (I 3
Choose the correct answer from the (d) Ml (Iv) 6
options given below- S ﬁ"{Wﬁ’ﬁaﬁﬁ 9 -
A. a-lll, b-1V, c-1, d-1
A. a-11I, b-1V, c-I, d-II
B. a-II, b-1V, c-III, d-I V. el
11, b-1V, c-111, d-
C. a-III, b-IV, c-1I, d-I p. agl v L
D. a-IV, b-lIl, c-IL, d-1 C. all, b1V, ¢, &-
D. a-IV, b-11l, ¢-II, d-I
65. If each of the dimensions of a _ 65. If Tk T o T TR I 100%
rectangle is increased by 100% its area w1 feT ST Y $9h &he H g gr-
is increased by- T '
A. 100% o 200;
B. 200% 2 ”
C. 300% D' 300%
V)
D. 400% - 400%
General Knowledge T {11
66. The original Constitution of India was ~ 66. ¥Ra %1 ¥ Wiy fverh g weaieriad
handwritten by ------ : fopaT T 2o
A. Rafi Ahmed Kidwai -
) A. TH s7eng fead
B. Kailash Nath Katju
C. Prem Bihari Narayan Raizada B. e RLUEACE |

D. Kanhaiyalal Maniklal Munshi

C. m fommt armer wasmer
D. FweaTeTe Wifdrhere qei
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6. mMatch the follow@.

—

List-]

(@ Sarkaria Commission

(® 11" Finance Commission

() Second Administrative
Reform Commission

(d) Voter's fake registration
List-11

) 1998

(Il Photo Identity Card

(1) 1983

(IV) 2005

C h@sc the correct answer from the

options given below-

A. a-lI, b-1V, ¢-1. d-11

B. a-llI, b-I, c-IV, d-II

C. a-1I, b-IV, c-1. d-111

D. a-1V, b-I1, c-Il1, d-1

67.

wifera fifem
-1

(a) WD HTE

(b) 11 al fam amam

(c) ﬁ:a‘mmﬁmgurtw&m

(d) WEETATAT F STl Gfra

-11

() 1998

(1) ®R) 989 9

(111) 1983

(IV) 2005

e ferw u fershedt 8 & Wl I -

A. a-lll, b-1V, c-I, d-1l
B. a-lll, b-I, c-1V, d-11
C. a-Il, b-1V, c-I, d-III
D. a-1V, b-II, c-III, d-I

68. Which is the national vegetable of 68. T 1 THNT Haoll Il 27
India?
A. FGE
A. Pumpkin
B. A
B. Potato =
C. Cabbage C. warmnd
D. Carrot D. TS
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69. Match List-I with List-II and find the

correct answer from the codes given
below.
List-I (Author
(a) Dadabhai Naoroji
(b) Jawaharlal Nehru
(c) Maulana Azad

"(d R.C.Dutt

. List-II (Book)
(I) Discovery of India

(II) India Wins Freedom

(IlI) Poverty and Un-British Rule in
India -

(IV) Economic History of India

Code:

A. a-l, b-II, c-I11, d-IV

B. a-IV, b-], c-II, d-1I1

C. alIl, b-III, c-I, d-IV

D. a-IIl, b-1, ¢-11, d-IV

0. g A a1 & PR R
Wzﬁzggﬁwﬂaﬂ?ﬁl

(IV) FehmTioreh feegl 31T §iean
T |

a-I, b-Il, c-111, d-IV

a-1V, b-1, c-II, d-III

a-Il, b-I1I, c-1, d-IV

. a-lII, b-I, c-II, d-IV

o 0wy

70.

Arrange chronologically-’
(a) Jallianwala Bagh massacre
(b) Civil disobedience movement

- (¢) Quit India movement

(d) Non-cooperation movement
Choose the correct answer from the
following options-

. a,b,cd
QQha'
a,db,c
b,c,d,a

vow»

70. maa;ﬁmmﬁwa&mﬁ-

(d) JTEEEnT e

A% R et 31 e s -
A. a,b,c,d

B. d,c,b,a
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7. 10 Which of the fol16ving year did

Queen Victoria assume the title of

1. Fr= 3 @ form od o werortt Rediter Y

WG Y ETHTRT Y IR Trer Y oft
Empress of [ngj a? £ T
A. 1876 A. 1876%.
B. 1858 B. 1858%¢.
C. 1885 C. 1885%
1
D. 1892 D. 1892%.
M : = o
72. Make the Pairs of chief rivers of India 72. Wﬁﬂg’@‘lﬁﬁ Hma?gmaﬁﬁ%
and their origin, T
List-1 List-II S I
(a)_ Godawari () Sihawa .
(%) Mahanadi (I1) Nasik (@) TeEd (1) Rt
() Krishna  (I1) Yamunotri (b) WML (I i
() Yamuna  (IV) Mahabaleshwar (c) T () TR
Choose the correct answer from the (d) T AV) FEERE
options given below- = ;5 '
= Forereat o & wedt I -
A. L, b1, oIV, 4111 g K
B. a-IL, b-IV, c.I, 4-Ii1 A. a-l, b-L, ¢-IV, d-IIT
C. a_IV, b_I’ C-III, d-I1 B. a—II, b-IV, C“I, d-11I
D. a-L, b-III, ¢-1, d-IV C. &IV, bl eIl ¢-1
D. a-1, b-III, ¢-I1, d-IV
73. Shivasamudram Hydroelectric Project 73 R wrer-fere wichemn Rea o &
is located in which state? &
A. Tamil Nadu A, dRreTe
B. Maharashtra B
C. Andhra Pradesh ' .
D. Karnataka G =i
D. #Aleh
-\
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74. Where are the hills of Abujhmad?

A. North of Dandakaranya

B. South-West of Dandakaranya
C. East of Dandakaranya

D. North-East of Dandakaranya

75.

Match the following-
List-]
() Banking sector reforms
(II) Capital account convertibility
(III) Monetary policy reforms
(IV) Inflation targeting
List-II
(a) Tarapore Committee
(b) Urjit Patel Committee
(c¢) Narasimhan Committee
(d) Chakravarti Committee
Choose the correct answer from the
options given below-

A. I-c, II-a, ITI-d, IV-b
B. I-a, II-b, ITl-c, IV-d
C. 1-d, II-c, III-b, IV-a
D. I-a, II-c, ITII-b, IV-d

O SRS RRIRE
(i) #ifses ifd gan
(V) TETEhIT eIt
inl
(a) dER wiAfd
(b) Sfia weet afafa
(c) TR afufa
(d) <shadt afufa
ﬁf&qqﬁﬁﬁﬁ%aﬁwﬂﬁ.
A. I, II-a, III-d, IV-b
B. I-a, II-b, II-c, [V-d
C. I-d, Il-c, l1l-b, IV-a
D. I-a, Il-c, I1I-b, IV-d
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76, Organized Sector Of Indian money 760 mq WW%W %ﬂﬁm
market includes- ?
(D Certificate of deposi - RO TSI
posit market

(I Commercia] paper market €2 S

() Treasury bjj market (1) =TT 95 SR

A Tand I () R} forer IR

B. Il and 111 A lwWw

1 ST

C. Tand I B. Il III

D. L IT and 11 :
C. IWdIII
D. LIIT III

77. The problems of cement industry are- 77. e e 6t e 3-
A. Poor quality of coal A. S i A o
B. Burden of high tariffs
. B. 3% W[ WK

C. Underutilization of capacity '

D. Allof the above ¢ 1
D. SWre weft

78. What is the main site of 78. WWWWWW%?

photosynthesis? | A. T \

A. Leaf ' N
B. @1

B. Stem

C. Chloroplast ¢

D. Guard cells D. T HIREHT
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79. The fact/s related to Rashtriya
Madhyamik Shiksha A bhiyan (RMSA)
is / are-

() Itwas started in 2007.

(I1) Inyear 2013-14 Inclusive
Education and Vo_cational
education was integrated in this
scheme.

(11I) This scheme targets to ensure
quality education for students of
12-13 years age group.

(IV) The facility of ICT and girl’s
hostel in school is an important
dimension of this scheme.

A. OnlyIl

B. Iand IV both

C. Il and IV both
D. [IlandIV -

79. @HWWW(RMSA)I?{

iR T e/ -

() ga T 2007 H o

1)) a§2013-14 T g@ATATH
RreT T AT e
TR TR T

(I11) 39 S 1 I 12-13 ad & |
g 3 it et A

mgﬁfm;w%

av) e 1CT G e ST
gﬁwwmﬁﬂqwmﬂﬁ@
A |

A FAI

B. 13RIV

C. IeitIv st

. LRIV

80. There are ------ steps in complete
Surya Namaskar Asana.

A 8
B. 10
C. 11
D. 12
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ational-International GeEs, av-fage

81. Whic}.1 Country recently approved a 81. et & o o 3T I a1t o ford weifn
malaria vaccing for children? AT R A 82
A. Kenya )

. &
B. India A
C. Ghana B. W
D. Cameroon G HH
D. A&

82. Which Indian state launched the 82. forw st TS ¥ COVID-19 § 3T g4
‘Mukhyamantri COVID-19 Bal Seva el ) GBEAT o fold ‘qEgHst COVID-
Yojana’ to support children orphaned N — ~
by COVID-197 e EI{K#

A. Utter Pradesh A. SUUR
B. Maharashtra B. HERTs
C. Tamil Nadu C. e
D. Gujarat D. TS
83. Which Indian state was declared the 83. fore R U= ! TBeT B R ST TS

first ‘Har Ghar Jal’ state, ensuring
every rural housechold has a tap water
connection?

A. Punjab

B. Kerala

C. Goa

D. Haryana

s o mar fore 7 gfafeera o i
ST ATHOT S o7 T e B

A. UST
B. & ()
C. T (iam)

D. &Qmmn
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84. Match the following- 84. |t gl TR
List-I ~ ListII gft-I g=fi-11
(a) 2023 Men’s (I) Sha’Carri (@) 2023 TR (D) i 0 f=gaA
three Tennis Richardson 3 Sewm
Grand Slam
winner ferstan
(b) 2023 women’s (II) Novak (b) 2023 afgaT 100 (10) e bl
100 m Sprint . Djokovic e foie < fea=
Champion - : O
023 ErET e (I11) B
(c) 2023 FIFA  (Il) Max (c) 20257 s
. World Player Verstappen R AE S
of the year (d) 2023 %M@ 1 (IV) e A
(d) 2023 Formula 1 (IV)Lionel Messi frsg =
World Champion faf Wﬁ%ﬁﬁﬁﬁgﬁm‘;ﬁ-
Choose the correct answer from the : '
options given below- A. a-IV, b-IIl, c-1I, d-I
A. a-IV, b-111, c-I1, d-1 B. a-II, b-III, c-IV, d-1
B. a-II, b-II, c-IV, d-I C. a-II, b-III, c-1, d-IV
C. a-II, b-I1I, c-I, d-IV D. a-I, b1, c-IV, d-III

D. a-II, b-I, c-IV, d-III
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85. : ; : -
SO"S‘qu the following statement 85. wgw Oy AT Shfer ST o 3 e
Iegardm.g the United Nations and the T FraferRad s W famm
gtematxonal Year of Millets. gﬁ%amw [As] 3TR &RV [R] T &

hoose Whether the Assertion [As] S — T ‘
and Reason [R] are truc, if the Reason al RS [As) 1 e
[R] Supports the Assertion [As]. el
Assertion [As] : The United Nations 31T [As] : €Y T 7 2023 I ST
declared 2023 as the International T 99 O
Year of Millets. ST AT T R
Reaitson [R] : Millets are known for R): = ™
their high nutritional value and SfeTaTy UREdA o ST erefterod o ford St
resilience to climate change. ST 2l
A. [ii)]th [As] and [R] are true, and A. [As] 3R [R] 3T g & 3T [R]
is the correct explanation of . ,
[As]. planation o [As] 3T TEY TR0 ]
B. Both [As] and [R] are true, but [R] B. [As] 3 [R] Rt & &, feFA [R],
ES not the correct explanation of [As] 7 Het TETHT & 8
As].
_ C. [As] ¥ & AfhT [R] 7T ©
C. [As]is true, but [R] is false. 23R 5
D. [As]is false, but [R] is true. D. [As) T bl s
General Knowledge of State T Y /AT AR

86. Which Ruler built the Madwa Mahal ~ 86. T WIrees  weam Heer Riemera fififa

Inscription? AT oUT?
A. Ahiraj A. fes
B. Gopaldev
p _B. MucRea
C. Jaypal
D. Ramchandra C :
D. THa%
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- o
97, Tl & ST ST fereITeeTr & et

87. Who among the following was not

related to extremist idcology? & |
A. Barrister C. A. Thakkar A Afreet 1. T 3R
B. Laxmanrao Udgirkar : B Wm
C. Thakur Hanuman Singh fie
D. Pt. Ravishankar Shukla C. SR
D. ©. TR Yt
88. Match the following- 88. geiSigl T
List-I gEi-1
(Organization) :
(@) Chhattisgarh Sudhi Sangh ——ﬂ :
(b) Chhattisgarh Anti Exploitation (@) g e :
Association ‘ (b) BTG yivor feredt wer
(c) Chhattisgarh Mahasabha (c) BTG HETEHT
(d) Steparate Chbhattisgarh Party () T aTE ard
List-II : o=t
(Related Person) —h—-ﬁ
(I) Thakur Pyarelal Singh (Geiferd Aieh)
(II) Dr. Khubchand Baghel () 3 ARa i
- (ITII) Pawan Diwan an <. WW
(IV) Pt. Shivdas Panday i :
Choose the correct answer from the (1D W
options given below- (IV) . fRreem qoeg
A. a1V, b-II, ¢-III, d-I 1= fow e et 3 & et See -
B. all b-l,cILdIV A. a1V, b1, ¢-II1, d-T
C. alL, b1V, 1, d-1II | B. a-l b, c-II1, d-IV
D. a-IV, b-I, c-IL, d-III C. a-L, b1V, c-L, d-III

D. a-IV, b-1, ¢-I1, d-I11
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89. Assertion [As] : Somvanshi ruler

ShlVagUpta used to bear the title of
‘Paramamaheshwar’.

RC?SOH [R] : Somvanshi ruler
Shivagupta wag » follower of Shaivite.
Choose the correct answer from the
following options-

A. Both [As] and [R] are truc and [R]

is the correct explanation of [As].

B. Both [As] and [R] are true but [R]

is not the correct explanation of
[As]. '

C. [As]is true but [R] is false.
D. [As]is false but [R] is true.

89, T [As) : Aat v R

“THHTERE <hl SUTTET TRUT LT o

I [R] : Wil A6 R e

EGICIEI N

Frer g e forepet # & ot S -

A. [As] 7T [R] 3T @&t 2, 3 [R],
[As] 3 Gt =TE )

B. [As] @ [R] 31 @&t 8 W [R], [As]
o1 wEt =meT e R

C. [As] @& 3, Tig [R] T 2l

D. [As] 7o 8, W [R] W& 2l

90. When was the first martyr of 90. SxftaTTe % For IR AT AR R
Chhattisgarh, Veer Narayan Singh, el it U TR o T A
hanged? .

‘S A. 10TEs, 1856
A. 10 December, 1856 .
B. 10 December, 1857 B. 10 fewer, 1857 :
C. 10 December, 1858 C. 10 fewsg, 1858
D. 10 December, 1859 D. 10 feEsy, 1859
Child Psychology A AT

91. Who among the followinghas 91. famifera & & fore st & ST
explained various stages of cognitive mgﬁmwﬁmp
developmselr(ljc in chlldrgn? A #

A. B.F. Skinner i
B. S =mewh

B. Lev Vygotsky

C. Jean Piaget C. S st |

D. Erik Erikson -D. e e
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92. Match the following stages of Erik

Erikson’s psychosocial development
with their corresponding conflict.

Stages Conflict
(@) Infancy  (I) Autonomy vs
Shame

(b) Early (IT) Industry vs
Childhood Inferiority

(c) Play Age (III) Initiative vs
Guilt

(d) School Age (IV) Trust vs Mistrust

Select correct answer from the options

given below- -

A. a-IV,b-], c-III, d-I1

B. a-I, b-HI, c-1V, d-I

C. a-L, b-II, c-IV, d-11

D. a-Il, b-11, c-I, d-IV

92.Wﬁm¥\

e A
=l L
(a) S (D) w@raar 9 I
(b) SR (D) ST S
SreTae |
(c) O AT (111) I&S DT 3TITY iy
() WH@(IV)WWM
fo e Freredl & § WY ST HT 54T -

A. a-IV, b-I, c-1II, d-1I
B. a-II, b-II1, c-IV, d-1
C. aL, b, c-1V,d-II
D. a-Ill, b-1I, c-1, d-IV
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Infom?ation sharing may be broken 93. SHeRTa T AT M- rarar, fsr we
dO_W.n Into confidentiality, privacy and fordiiiepa e o & 3 fanrfora fepa s
Privileged communication. TR '
Assertion [As] : Confidentiality is the - o
crucial aspect and ethical duty of L] T N
counsellor. Tl qee] Ue ek Fded 8l
Rc?ason [R] : Confidentiality ensures RV [R] : Mfrerar s i gHfed
client that information will be Fd 2 o5 SRR 3T TR ahor &
protected from unauthorised - Taffa
. T 2 HTHI
disclosure and they feel safe and ??ﬁ Ll g’jﬁﬁ “ N
supported, H &l
A. BOth [As] and [R] are true and [R] A. [As] W& [R] @I ae 8 T [R], [As]
1s the correct explanation of [As]. F1 3R s R
B. Both [A : : :
. [As] and [R] are true b.ut [R] B. [As]Td [R] 3T ad & & [R),
1s NOT the correct explanation of
[As]. [As] o1 3fera st 72 21
C. [As] is true but [R] is false. €. [As] ¥ 3T [R] HEA B
D. [As] is false but [R] is true. D. [As] & & 9ig [R] T B
94. Which steps are essentially involved 94. TEHTHS fieH & T S A HT A
in early stages of creative thinking? =T A w9 & uitafed w8
(a) Orientation (b) Preparation (a) Iq@ET ®) ¥
(c) Incubation (d) Verification >
Select the correct answer from ©) 5 ) (d) .
following options- iR el & Tt Sot 1 o -
A. aandd only A FTaTEd
B. aand c only B. Fa®aWi ¢
C. a,bandc only C. ¥acta, b ¢
D. b, c and d only , :
D. @b, c T d
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95, Basis of individual differences are-

A. Personality and Creativity A, SAfhe g gerreRehdl
B. Heredity and Environment B. g TRt T Tae
i d Prob i .
C. Intelligence and (I:’ro lem Solving C. gﬁg@ﬂmmm
D. Motivation and Concept . -
Formation D. o
96. According to Freud, which stage of 96. TS % AIALH preftfeh forere % for
psychosexual development is O H ﬁq gnifer we Arg EEIDIR]
characterized by the Oedipus complex %ﬁm%v .
and Electra complex?
A. Anal stage A. Uv?ﬂq
B. Oral stage B. G &l
C. Phallic stage C. ifirep HaeeT
D. Genital stage D. 2 aree
97. Arrange the following stages of 97. firdyr wika & Frerifere ST ol HEl 51 |
guidance process in correct order. 7 sgefied N |
(a) Collection of 1nformat10.n (a) STERTRY ST T
(b) Follow up
(c) Identifying the need (b) I
(d) Providing information . (c) SATTIRATL i YT
(e) Rendering guidance (d) SR FEH HTHT
A. a,b,ec,d ORELIEEIRIRRICT
B. a,c,d, e, b A abecd
C. b,d,e,c,a B a,c,d’ ,b
* ’ L] 3y e’ ’
D. c,a,d,e, b %
C. b,d,e,c,a '
D

. ¢,a,d, e b J
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_—_‘x
98. Multiple Intelligence theory is

98. arg qfig 1 furezia sfemfaa o .

formulateq by- A, © wfde
A. C.s

P€arman B. U, yded
B. L. Thurston "
C. R. Catte]] C. sm
D. H. Gardner D. t.

—— L N\ - vl :
99. 1dentify the main strategies of 99. gt fren @ fergrdiga stz 2
inclusive education for children with sirereh, U frafira ferenfefri 2 oo mpa
special need and regular student. wrHife i g Fifsm)
(a) Lea-st_ restrictive environment (2) =R SR AR
(b) Main streaming -
(¢) Programmed learning ih) TR
(d) Full inclusion (c) it arfermm
Select the correct answer from (d) 9ot qETAYH
following options- ot R e Rrered! # & w8 I T—:;,:{
A. aand b onl :
Y A. FaAaTHb
B. aand c only ,
C. a,band donly B. e
D. a,band c only C. #ada, bW d
D. Faca, bW ¢
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100. Give the correct sequence of the
personality development as per
H. Sullivan’s theory.
(a) Organization of experience
(b) Period of becoming social
(c) Completeness of interpersonal
relationship
(d) Zone of interaction
(e) Intimate relationship

A. ¢c,b,d e a
B. a,c,b,d, e
C. d,b,e a,c
D.

d,a, b, e, c

BTITaT 3ieftares U st 2024 ©Oarkraiprep.in

100, o, GERaT o RIS & SR I
qu{rmﬂml

.dab,ec
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